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S 24 /A = /BDE ¢ |, CD 9]
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=
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=
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AABF ¢ ADFE(AAR-S) ©]E2 6 : 2 = 10 : EF 6EF = 20

- EF = ?(cm)




11.

Th 13} o] Al ofgf] 7HA o] A5
Al 7He] M| ol vt 7 11 ME =
91 FG 2] Zo]7} 60cm 22 & uff, AC, DE
o] dol& Hsfoiet.

>
>
[> &g AC =20cm
>

HE: DE =40cm

ABGF ©f|4 BC = CE = EG, AC//DE//FG °|E=2 AC :
FG=1:3=AC:60

wakA] AC = 20(cm) ©]t}.

I3 DE: FG =2:3 = DE : 60 @2tA DE = 40(cm) ©]t}.




4748 ABC 9|4 AD 7} /CAE 9] o]% °IE
75101k (F, A D =/ ©] 97ke] olE 2 M3 B ©) @M
wHo|t)

@ 8 cm @ 10 cm 3®)12 cm




13. t& I%A AE = CE, DF =
DC = 12cm ©]t}))

F & o, BD 9] Zol=(d,

A

@ 6cm @ 5em ®)4cm @ 3cm ® 2cm

~&B ~

A E oA BC ol Bt ARS 70

b
A
G,
F
D B C
BG = 'BC
T2

ADFB = AEFG ©]22 DB = GE
BD:BC=1:2

. BD=12x % = 4(cm)




14. o3 I9lA Al A D,E.F += aABC 9] A ©19] Z3e|th. HG
5cm & W, AH + GF 9] 2ol & "2 79+ A7

A

@ 24cm @25cm ® 26cm @ 27Tcm ® 28cm

B

AH:HF=1:1=3:3
AG:GF=2:1=4:2
é,ﬁ:ﬁ:@:S:l:Q
AH:5=3:1, AH = 15(cm)
5:GF=1:2, GF =10 (cm)




15. o3 94 AABC & ADEF

D
o)1 AABC 9] Yo7} 16 cm?
o o, ADEF 2] {ol& T3} o
! /\
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